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Objective:  To graph absolute value inequalities using licorice, life-savers and skittles.  

Directions:

1. You will be given absolute value inequality problems to solve. 

2. After solving, you must write your answer in set notation.

3. In order to graph your solution, you need to use life-savers for open circles, skittles for closed circles, and the licorice may either remain in one piece or be divided into two pieces for the actual. Remember all graphs must be labeled correctly.

4. Warning!! You cannot eat your candy until your teacher has checked your solution and graph.  
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Work:

Set Notation:


Graph:


Teacher Checkpoint:
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Name______________________

	1.) List the problems that had graphs that ended with one piece  of licorice?


	4.) List the problems that had graphs that ended using two pieces of licorice?



	2. )  What did those problems have in common?


	5.) What did these problems have in common?



	3.) What conjecture(s) can you draw from your answers in question 1 and 2?


	6.)  What conjecture(s) can you draw from your answers in question 4 and 5?




7.) What did you like/dislike most about this activity?
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